NAME:

Stat 205 Quiz 2

The following are the same = 20 times in minutes to complete a task (involving stacking blocks
given to preschoolers) that you analyzed on Quiz 1. Here they are ordered. The sample mean is
y = 1.875 and the sample standard deviatio is 1.181.

01 02 03 06 07 07 08 08 09 11
14 14 18 21 21 27 33 41 57 6.7

1. Find the five number summary of these dajtg;j, @1, Q2, @3, andy ).

Answer 0.7+0.7 1.1+14
Ya) = 01, Ql = T = 07, QQ = T = 125,
21+27
2. What percentage of the data points Emger thanthan()s;?
Answer: .
— =0.25 = 25%.
20 %

3. Make a regular boxplot from the 5 number summary.

4. Find the interquartile rangBQ R. Is it larger than the standard deviation?
Answer:IQR=Q3 — Q1 =24—-0.7=1.7.Yes,1.7=IQR > s = 1.181.

5. Find the lower and upper fences. Which, if any, observations are outliers?
Answer:
LF=Q;—15IQR=0.7—15(1.7) = —1.85,

UF = Qs+ 1.5IQR =24+ 1.5(1.7) = 4.95.
There are two outliers: 5.7 and 6.7 minutes.
6. Compare the mean to the median. Is the mean pulled in the direction of skew? Comment.

Answer: The meany = 1.875 is larger than the media, = 1.25. The data are skewed
right, soyesthe mean is pulled in the direction of skew.



